Planning and the Metro Economy
Exam 1 Study Guide

Market Efficiency / Welfare Economics
What is the law of demand?

Why do demand curves slope downward?

What is the law of supply?

Why do supply curves slope upward?

Draw a supply and demand diagram and indicate the equilibrium output. Using the concepts of marginal benefit and marginal cost, explain with the equilibrium output is efficient.

What is consumer surplus?

Draw a supply and demand diagram and indicate the equilibrium output. Using the concepts of marginal benefit and marginal cost, explain with the equilibrium output is efficient.

Using a supply and demand curve, illustrate the components of social surplus.

Market Failure (Inefficiency)
What is an externality? Give an example of a positive and negative externality.
Why will the existence of a negative externality lead the market to produce more of a good than is socially optimal? Explain using words and a diagram (graph).
Why will the existence of a positive externality lead the market to produce less of a good than is socially optimal?

How can taxes be used to internalize an externality?

What is a public good? (Hint: there are two defining characteristics) Why can’t the private market efficiently provide public goods?
Elasticity

Explain the concepts of price elasticity of demand and price elasticity of supply.

Why is the demand for Chevrolets more elastic than the demand for automobiles in general?

Is the demand curve for gasoline likely to be more elastic or less elastic in the long run? Explain?

Is the demand for gasoline likely to be more elastic at the city level or at the regional level? What about at the national level?
Is the supply of labor more likely to be elastic at the city level or the regional level?

Revenue Sources / Taxation

What is the difference between tax imposition and tax incidence?

What is tax shifting?

Describe the how elasticity relates to the efficiency of tax.

Describe how elasticity relates to the equity of a tax.

Lack of distortion is generally considered a favorable attribute of a tax. When is it not?

Would a tax on a negative externality tend to improve or harm society’s well-being? Explain with words and a diagram.

After your last economics class, someone suggests to you that a tax on kidney dialysis would be a good tax. In what way might this statement be correct? In what way might it be incorrect?

Evaluate this statement from Senator Jones: The average commuter currently spends $100 a week on gas. The proposed 10 percent increase in the gas tax will raise the average commute cost to $110 a week.
If the elasticity of the supply of gasoline is 2.0, and the elasticity of demand for gasoline 0.2, who bears the greatest burden of a tax on gasoline? Illustrate with a graph.

Is the supply of labor likely to be more elastic at the local or regional level? What about the national level?
How does this affect the efficiency of local tax on wages? Why could such a tax be considered an indirect tax on land?
Why is a direct tax on land more efficient?

What is the difference between a regressive tax and a progressive tax? Give some examples of each.

Why is the tax structure faced by Memphian’s so regressive?

The Clinton administration’s proposed health plan was to be financed by doubling the tax on cigarettes and increasing income tax rates by 2 percent. Would the proposed expansion of health benefits be progressive or regressive? Justify your answer.

Senator Jones argues that taxes on video poker satisfy the benefit principle of taxation. If so, what sorts of activities must he believe that the revenue is being spent on? Explain.

If the tax rate on gasoline doubles, can you assume that tax revenue will double? Explain.
Why might a tax rate increase of 10 percent lead to increased tax revenue, while a tax rate increase of 20 percent leads to a decrease in tax revenue?

City A has a property tax rate of 0.015 and City B has a property tax rate of 0.030. Can you tell which city places a heavier burden on property owners? Explain.

How are the property tax base and tax levy used to determine the property tax rate?
Cost-Benefit Analysis 

If a capital improvement decreases the cost to cross a river, how does it affect consumer surplus? (Hint: there are two components to the change in consumer surplus)
What is the difference between Pareto efficiency and potential Pareto efficiency (the Kaldor-Hicks criterion)?

Why is $500 five years from now worth less than $500 today? How is that fact accounted for in cost-benefit analysis?

What impact does increasing the discount rate have on the present value calculation of a stream of future benefits?

Describe two methods for determining the value of a life in a cost-benefit analysis. What are the limitations of each?

How do you account for the value of time in a cost benefit analysis?
In determining costs for a cost-benefit analysis, how would you account for wages paid to workers who were previously unemployed? (Why would they count differently than wages paid to workers who were not previously unemployed?)

